Treat! Treat!

Today is Roxy’s Birthday. So, First of all, we wish you many many happy returns of the day!!

Now, Some of his friends (Rifat, Saikat, Tumpa, Shuvo, Pushpa,Rabee,Murad and some more)
want to surprise Roxy by putting a very big candle on his Birthday Cake. But unfortunately, very
big candle is unavailable at shop. So Saikat made a decision to join/attach some little candles
one after one for making a big candle. Nice job, isn’t it?

Now Saikat has bought some small candle of various size. Now he wants to know that after
joining/attaching some of them, is it possible to make a big candle of size P? Help Saikat ! He is
so worried about that.

Input:

Input starts with an integer T(1<=T<=100) denoting the number of test cases. Each test case
contains one integer N(1<=N<=100) representing the number of small candles that Saikat has
bought. Next line contains N integers denoting the size of the candles. Each candle size is no
more than 100. Next line contains one integer P(1<=P<=20000).

Output:

For each test case, print the case number and “Yes” if it is possible to make a candle of size P,
print “No” otherwise. See sample input and output for exact format.

Sample Input/Qutput:

Sample Input Sample Output
3 Case 1: Yes

3 Case 2: Yes

123 Case 3:No

123

7
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